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FACULTY OF SCIENCE
B.Sc. (First Year) (First Semester) EXAMINATION
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(CBCS/CGPA Pattern)

CHEMISTRY
Paper 1
(Organic and Inorganic Chemistry)
(MCQ+Theory)
(Friday, 12-10-2018) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. — (1) Attempt A/l questions.

(1)  All questions carry equal marks.

(ziz7) Use OMR sheet for Question No. 1.

(iv)  Calculator is allowed.

(v Only one answer-sheet should be used for Sections A and B.
(MCQ)

1. Select the correct answer for each of the following multiple choice

questions :

(1) The IUPAC momenclature of ether is ................
(A) Alkyl alkanoate (B) Alkoxyalkane
(C) Alkanol (D)  Alkanal

(11) The correct order of selection of parent chain is ..............
(A)  Functional group > Multiple bond > Substituent
(B)  Functional group > Substituent > Multiple bond
(C)  Multiple bond > Substituent > Functional group
(D)  Multiple bond > Functional group > Substituent

P.T.O.

2803A434F7FDA42B2F2200FB7953831B



WT

(€77))

(1v)

(v)

(v1)

(vil)

(vi1d)

(x)

( 2 ) W-—42-2018

Which of the following is an electrophile ?
(A) NH, (B) H,0
(C) BFj (D)  OH~

Breaking of carbon-carbon bond at high temperature in the absence
of air is known as ............

(A) oxidation (B)  reduction

(C)  hydrolysis (D)  pyrolysis

.............. is an example of cumulated diene.

(A) 1, 3-butadiene (B) 1, 4-pentadiene

(C) 1, 2-propadiene (D)  all of these
Conversion of but-1-yne to but-1-ene is .................. reaction.
(A) Addition (B)  Elimination

(C)  Substitution (D)  Rearrangement

+

CH,—CH—CH, —> 2
No/ " CH,0H

A) CH,—CH—CH,—OH
OCH,
OH

(B) CH,—CH—CH,—OCH,

OH

(C)
CH,—CH—CH,

(D) CH3—CHy—CH,—OH

Generally in a period atomic size of an atom ................
(A) Increases (B) Decreases

(C) Remains same (D) None of these
Highest ionization potential will be of ..............

(A)  s-block elements (B)  d-block elements
(C)  Halogens (D)  Inert gases
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(x The no. of bond pairs and lone pairs of electron in XeFq molecule :
(A) 2 and 3 (B) 3 and 2
(C) 2 and 2 (D) 3 and 3
(Theory)
Section A
(Organic Chemistry)
2. Answer any two of the following :

(a)

()

Give the IUPAC names of the following :

(1) /\/l\

@ NN\

H
€72)) ’/O
0

0
(1v) H

OCH,

Define the following terms :
(2) Substrate
(1)  Reagent
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(117) Nitrene
(v  Homolytic fission
(v  Heterolytic fission.

(0 Predict the product of the following reactions :

H,0
()  CH,—Mg—Br — = 57

G 2CH,COONa Electrolysis 9

HZO
an N,
Raney Ni
(1v) X R

(v  HCc=C—p HBr ,

(d) What is the action of the following on 1-propene ?
(1) HBr
(i) Hg(OCOCH3)9/Hy0O, NaBH,
(1)  Cly/Hy0
(iv)  alk. KMnO,
(v HBr, HyOy
Answer any two of the following :
(a) Write a brief note on inductive effect and hyperconjugation effect.
0) How will you convert the following :
(1) 1, 3-butadiene to cyclohexene
(i) 1, 4-butane diol to 1, 3-butadiene
(zi1) Ethene to glycol
(iv) ~ Calcium carbide to ethyne

(v Calcium adipate to cyclopentane.
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(0 What are alcohols ? Give its classification.
(d) §)) Write suffixes for the following functional groups :

1) R—COOR’

(2) R—COOH

3) R—CONH,,.

(77 What are epoxides ? Give its example.
Section B
(Inorganic Chemistry)
4, Answer any two of the following :

(a) Give the characteristics of d-block elements.

(b Define electronegativity. Explain the factors affecting it and give its
periodic trends.

(0 (1) Give the difference between ionisation energy and electron
affinity.

(i) ~ Give the electronic configuration of noble gases.

(d) Give any one method of preparation and any Zwo properties of XeFg.
Explain why XeFg is a distorted octahedron.
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